No.1

bS5y - T4— FHEEE - BIE - £RE R - BHRE
Feth BER :—}\‘\W Bt BAMEBIXFHEFERS =— | 24310709 | #HHE 4£H EI. BEE HX. #A B
B biley KFHELHRBS B4 RFMERIL(ES ESN\—9)ELHERS =— | 312030 REEERE B
] I EEEEE —m W] BEEREA = (] BEHE A =g W] BEEEA =g (] BEEE 4 =pm [WE] BEEEA =g (] BB 4 = (] BEHE 4 =05,
A fEH b gy Ll T, Rk I LR, K v R, FERE I LR, ALgR i L, FERE v LR, Rk I L, ERE v LR, Rk
06/08|/N# 3 EBF | iR 1A #* 17.82
100m +0. 4 |TFX
06/08|/NE 4 FEBF | iRES 1|#EmE #E 4| 15.56 |2 |HTIREAN 4] 16.62 |[3|5H B— 16.62 | 4 [&H w 17.02
100m -1.4 |[TFXF TAY-bRTF Y s TEXF
06/08|/N¥5 FEBF | R T|MR &2 5| 15.04 [[2|SmA&EKE 5| 15.25 (|3|HA WX 15.71 [[4]|/8 =zZHh 15.84 |[[5| LR %X 5| 16.63 ||6|#IE8 &% 5| 16.70 [ 7|=#E &3 5| 16.77
100m —1. 3 [RFRELE)TT KFBEE)TT IFXF TFRF TA)-bKF KFEEEITT KFBEE)TT
06/08|/N¥ 6 FEBF | RS T|3RA BEfE 6] 13.86 [[2|h/EMAEE 6| 14.09 [|3|Les MEs 14.27 [[4;BH XE 14.57
100m -0.8| [7R)-bkF JAI-PKF pNT:H KFEEEH5T
06/08|/NEBF R T|hEMAR 6]2:37.13[|2[3kA BEIE 6]2:37.33| 3 |mmEXER 244 504 | HTEEAN 2:45.38||5|48@A =FEIE 5[2:45.83|[6| LR #HK 5(2:46.56{7|5H mE— 4/3:21.33[8[)IAx #t 3]|3:21.60
800m TRY-bKTF JAY-bRTF KPR JAY-pRTF TEXRF TRY-bKTF JAY-bRTF TEXF
06/08|/NF B F R 1|7z2U—rkF 58.69 |2 |kFrELr5T 1:02.07
4% 100mR WA BEE 6 USR5
IRFRH 6 M 185 5
LR BK 5 mERAERES 5
JETHGEAN 4 ik S 5
06/08 | /N5 58 F R 1[3#E Bk 5|m2¢40|2EHF AZ 6|mesc2 )| 3[#IE AX 5[sm27¢3.4)| 4 [ HAER 3m24
EERk TEXF e 9| |xFEEry | mmen| |75 [ammeie| |BREEZE +2.0
06/08 | /N B8 F P T|[#EFHBARER 6] 13m72
SRy R— )L BREEZE
06/08|/NE 1 & F | RS 1R o1 9.84
50m —1. 2 (BRI
06/08|/N2# 3 FE&F | iREs T|E8 %x 3| 17.21 |2 @H#H =X 3| 17.39 |[3|EEBSE 18.70
100m -2.8] |TFKF KFREL)TT =372\
06/08 |/ 4 & F | REE 1S OF 4] 16.35 |[2|%E ZEr 4| 17.57 ||3|HEA & 18. 60
100m 19| kT KFEEE)T TFRF
06/08|/N 5 & F | iRBS 1|#EexsnY 5 16.65 |[2[&MA #8 5| 16.83 |[S|AHEE 17.65 [[4]|h B REZ 17.94
100m “2. 7| _|TEKF TFRF TFXF TFRF
06/08|/N 6 & F | iRBS 1|/ ®4fn 6] 15.15 [[2|EE RmE 6| 15.20 (|3|A Bt 15.24 [[4|RE b 15.29 |[5|#a4t 7<% 6| 15.87 ||6|ILTT #3XK 6| 16.54 |[/|ET 4ata 6| 17.14
100m 3.6 |TFKF TFRF KFREL)TT TFXK TA)-bKF JR)-bRF TFRF
06/08|/NE%&F R 1£2AR Mk 6[2:47.22|[2|F+ 7<FE 6]2:58.48] 3 |fA #® 3:08.83[4|h B BEI= 3:17.68| 5 |[HEEBE 3(3:19.95
800m TFEXF TAY-bRTF TFXF TFEXF RN
06/08|/NEE&F R 1| TFXF 59.02
4 x 100mR HT i 6
LWH R 6
B @& 6
Bk 6
06/08|/NF %+ R 1|/ #4fn 6 4mi8
BB TFEXF +2.0
06/08|/MEZF R T/ #4fm 6] 33m49
S ANY I R—ILE TFEXF
06/08 |22 1 £ BF | iRE T8l BX 1] 13.23 | 2|&mZEFARE 1| 13.80 |[3[FE #X 13.88 |4 | E# 14.05 |[5|ME @A 1] 14.16 [[6|#kIR 3F£ 1| 14.56 || 7[Z:E #3 1| 14.85 [[8|EEL #&MH 1] 14.88
100m 2.1 [Eild L Eilig B4 o L o i
06/08| 4,8 B F | iRBE E*Jﬁﬁ;’tﬁﬁ 3| 12.43 | 2[i=mE EBA 2| 12.67 [ 3[4 EE 12.76 |[4|%R EH 12.97 |[5 &5 1&#8) 2| 13.18 [[6|:&i& B 3| 13.42 || 7[xm % 2| 13.50 =R HFH 3| KEFS
100m —3.1 El g BRP N EBARE e o jngedn
06/08| R EF R 1EmE ZEA 2| 58.93 |[2[#m®7-v- E& 3| 1:00.00( 3 |#ER RN 1:01. 33| 4 [R&I=1A 1:15.97(|5|&H o 1[1:22.53][6 (R ZEA 1]1:23.21
400m A i s s BES EEG EH
06/08 | 1 58 F R T[BFEARE 3[4:21.02[(2[1L:8 KkE 3| 4:43. 34| 3|)IlEg 183} 4:59.25(14 & BEE 5:03. 16| 5 [3Z)Il RA 1]5:07.36(|6[£H A 2[5:14.85( 7|2JIBAES 3|5:16.99|8[BHE &3 1[5:24.93
1500m BA 2L [Eild B4iEd fnged Hilig jnged Hilid 'Ed
06/08 | 58 F R 1N R R 48.81 | 2 [f8EHER 57.22
4 x 100mR =R A 3 A A1
B KR 3 AR BER 1
P i 3 AH O EAN L
Mg SR 3 E R 1
06/08| 58 F Py 1|&%: &8 2] 1md0
EE Bk b
06/08 |58 F Py T|TE *F 3|msc260f2[ILT #HKRF 3[4m61+4[3|KE KX Amd6 || 4|EEWL &0t am21 |[5[/hdR BEKR 1[4m565.0| 6 [iER LGB 3| 4m03 |[7[EE EH 1| 3m86 | 8|4/ TFHIBR 1|ame2¢4.3)
g Bk Zlh 235146 (+0.7) Bk 234n60 (+1.0) 0% s +1.1 Hiligh a5 anL| |fEEd 233159 (+1. 7) 0 +2.0 075 th +1.7 =k 23051 (+1.4)
06/08|hFFEF R [ETA & 2| Tmb7 |[2|R®@E fE 3| 6m08 |[[3|#WaH FE 5m10 [ 4 [WuA& FE 4m12
B .45 [5. 000kg] Nz BXe jngEdh BXe




No.2

bSvD - TJ4—ILRFIEE - FE - ZERE - R - SRR
Feth BER :—F\W a4 BURIXRFIEFERR =— | 24310709 | #HHE 4£H EI. BEE HX. #A B
FHEFAK KFHELHRBS s KRFRERIL(ES ESN—Y) ELFHRE =— | 312030 aEERE 5
] I EEEEE = E] BEEE A —pm |ME] BEEE A =g W] BEEEA =g (] BEEE 4 =pm [WE] BEEEA =g (] BB 4 = (] BEHE 4 =05,
A fEH b gy Ll T k2 I R, K o LR, FERE I L ALgR i L, FERE v R, Rk I iR, ERE v g Rk
06/08|hf 1 & F | iRES 1[EELCSH 1| 14.29 (|20 EE 1] 14.38 ||3[¥EEX EZE 1| 14.57 [[4[luAx =FE 1| 15.48 [[5|FA =# 1| 15.59 (|6 [MB =f& 1| 15.75 || 7| 2 1] 15.99 [8[&Hk HFB 1| 16.13
100m 2.3 [fE&d g BESD g KFdeslan Hilit ZEilg Pt A
06/08|h @& F | iRE% 128 #& 3| 13.87 |[2|H) BAZL 2| 14.86 (|3|fFE Znmk 2| 15.12 |[4|M9% + % 2| 15.64 ||5|@sr IF 3| 15.92
100m 1.0 [fExd i s BED BES Ellit
06/08|hFZF R 11#0 3% 3| 33.28
200m -2.3 EK
06/08|h 24 F »n 1[fem &|E 1)2:38.91(2|)1ix Z=F 2]2:43.87|3|#E = 2|2:46.35[4|F%FHE &Ly 3] 2:50.81[5|hie #&|F 2|2:51.37(|6|A0O HEMH 1]2:53.28[7|FA =E& 1)2:54.86(8|& Bft 1[2:57.24
800m )il )il Elith BES S4iEd BES KFdestan Eillit
06/08| R F % F Py INECELEE 56. 77 | 2 |f@KpEix 58.65 |3 [EILhFER 1:03.77
4% 100mR fHE e 2 iy R 1 b FAN T |
BEHL DR 1 FHo Y 3 JE DD 1
M bz 2 HN AR 2 I EBEF 1L
| B pi 3 i [EEiA
06/08|Fh ¥ R Tl ®EFE 2| 1m3d |2|#E AHF 2] m20 |[3[FEE =2 3| 1ml0
E Bk Eilig ByiEd ZEilig
06/08 | % F R 1[5t BETE 3] 4n51G3.5) [ 2 [#F DA 2| 4m36 |[3[#FE Wiz 2| 3m98 (4|AH EA 2] 3m80
2 Bk KFdesd  |amvcon| |5 4iES +1.6 B yiEs +0.7 BiEd +0.9
06/08|—#% - SR BF| R 1[4&8 1&Fd | 11.51 [[2|@+F ®E 2| 11.96 || 3|XK IE 1| 12.49 [[4|k:T 8BEE 2| 13.01 ||5|Em #E— | 13.19 [6[;thE KXFE 1| 13.30 || 7|REBEHKEE 1| 13.33
100m =2, 7| [ - ELAC XFIS SEREERS EERvRI-2 XFIH XTHES
06/08|—#% - S BF| RB 1[#E ¥ b| 51.96 [[2[&FHE Z=iE 2| 53.50 [ 3| # 3[1:00.72
400m XFEH XFTH FELL - TRBEA
06/08|—#% - & BF| R 1[# K 5[4:09.08[ 2B REIR 2[4:11.45[(3|#HrE 1KF 2|4:16.08|4[thAK KA 38[4:18.56( 5[5 L #® 514:34.39|6|BEE R— 2(4:40.17( 7|k %m|E 1]4:41.24| 8 |#k% M 3(4:44.33
1500m XFIEE XTHES XTED EETHRER XIEE XTE b A= R - TEBEX
06/08|—#% - B4 BF| RB ] #1 3[19:01.99
5000m B - TERA
B iHi5 % w3
T2ERX
06/08|—#% - B BEF| iR T|RIE #ZE 1[5m6029
= B XFE 512 (+1.8)
06/08|—#% - 4B F| RB 17T # 2| 53m80 |[2|FARE &KX 1| 32m/5 ||3|HA 1XE 1] 29m95
oY 5 800g] B BATEA XFHE XFLE
06/08| —fxEF | iREE 1T[%%  # 3| 6m02
ah 15 [7. 260kg] R - TEBEX
06/08]— 12 - BR&T| REF T|=8F &5 1| 14.13 2| FH=/8 1| 14.14 |3 |B= E% 3| 14.65 |44/l o4& 1| 15.28
100m 2.9 [XFES XTHES XFds XFES
06/08|—#% - Btk F| iREB 1]iE2 @E% 3| 30.77
200m 1.6 [KFIES
06/08|—#% - Btk F| iRB 1%L OE 1]6:23.82
1500m | | kFES
B Hi5 Bl D= 1
XIS
06/08|—#& - Bk F| Rk 1|aTH &% 1|4s663.9[2[E8H HE 1|mie27)
g Bk XFE 43438 (+1. 8) P 233099 (+0. 7)
06/08|—#& - Btz F| iRBE T|RE #% 1| 6m66
Fa 3% [4. 000kg] S A=)
06/08| L—a Rk 1/1BOSC 47.82 (| 2|7ru—bxF 57.45
4x100mR i Bk 1 Hl OFE— e
i BkiE 3 LF Kii s
CInfEZErE 3 Wk K 6
AR 3 W A 6
7T RavTy 4a v
HH (£ PN &l C T % JEL[F] JE#En/sec fii %
6/8 9:30 [ 29.0 46 AL 3.1
6/8 10:00 5 30.0 41 G 2.2
6/8 11:00 [ 29.0 46 R 2.6
6/8 12:00 = 31.0 43 SRR AL 0.3
6/8 13:00 [ 31.0 43 E ] 2.4




